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PRS Recommendation Report

	PRR Number
	295PRR
	PRR Title
	Add Formulas for Charges to Default on QSE’s Obligation and Update the Formulas of A/S charge

	Recommended Action 
	None taken.

	Recommended Effective Date
	None

	PRR Background
	Provides formulas to reflect the language for the treatment of default QSE financial responsibility.

	Protocol Revision Subcommittee Recommendation 
	PRS did not take action on this PRR.  The motion to approve did not receive a second.

	
	


	Recommended Language


6.9.1 Settlement of ERCOT Ancillary Services Capacity Procured for Defaulted A/S Obligations
(1) ERCOT shall allocate to each QSE, who has defaulted on their Ancillary Service supply obligation, their proportionate share of the cost of resolving the default.  ERCOT shall determine each QSE’s allocated  cost based on the QSE’s default as a ratio of the total defaulted supply obligation.

(2) The total cost of the default is equal to sum of the cost of  procuring replacement capacity at the MCPC for all markets opened, and any additional incremental change in the MCPC, caused by the default, that is applied to the market as a whole.

(3) Each defaulting QSE’s will be charged an amount equal to the total cost of resolving the default multiplied by the QSE’s defaulted obligation divided by the total default obligation in MW.
(4) The default obligation cost will be allocated to those QSE’s who have defaulted on their  obligation for the following Ancillary Services:

(a) Regulation Up;

(b) Regulation Down;

(c) Responsive Reserve; and

(d) Non-Spinning Reserve.

6.9.1.1
Regulation Up Service Default Obligation Charge
When more than one market has been opened:

TDOCRU i = (DORUi * Max (MCPC1, MCPC 2, . . . MCPC n) + (CRU1  + . . CRUn-1.)* Max (0, (MCPC n  - Max (MCPC1 . . . MCPC n-1))

TDOCRUQi = TDOCRUi * (DORUQi / (( DORUQi)all QSEs )

Where:

TDOCRUi:
Total cost for the default obligation in Market i for Regulation Up.
TDOCRUQi:
The charge for the default obligation per QSE in Market i for Regulation Up.
DORUi:
Total Defaulted Obligation for Regulation Up for all QSE in Market i.
DORUQi:
Defaulted Obligation for Regulation Up per QSE in Market i

CRU i: 

Regulation Up Services Procured in Market i.
MCPCi:
Market Clearing Price of all procurement process of Capacity ($/MW)
i:
Interval (hour).
n:
Number of markets opened.
6.9.1.2
Regulation Down Service Default Obligation Charge
When more than one market has been opened:

TDOCRD i = (DORDi * Max (MCPC1, MCPC2, . . . MCPC n) + (CRD1  + . . CRDn-1.)* Max (0, (MCPC i  - Max (MCPC1 . . . MCPC n-1))

TDOCRDQi = TDOCRDi * (DORDQi / ((DORDQi)all QSEs )

Where:

TDOCRDi:
Total cost for the default obligation in Market i for Regulation Down.
TDOCRDQi:
The charge for the default obligation per QSE in Market i for Regulation Down.
DORDi:
Total Defaulted Obligation for Regulation Down for all QSE in Market i.
DORDQi:
Defaulted Obligation for Regulation Down per QSE in Market i.
CRD i: 
Regulation Down Services Procured in Market i.
MCPCi:
Market Clearing Price of all procurement process of Capacity ($/MW).
i:
Interval (hour).
n:
Number of markets opened.
6.9.1.3
Responsive Reserve Service Default Obligation Charge
When more than one market has been opened:

TDOCRR i = (DORRi * Max (MCPC1, MCPC  2, . . . MCPC n) + (CRR1  + . . CRRn-1.)* Max (0, (MCPC i  - Max (MCPC1 . . . MCPC n-1))

TDOCRRQi = TDOCRRi * (DORRQi / (( DORRQi)all QSEs )

Where:

TDOCRRi:
Total cost for the default obligation in Market i for Responsive Reserve.
TDOCRRQi:
The charge for the default obligation per QSE in Market i for Responsive Reserve.
DORRi:
Total Defaulted Obligation for Responsive Reserve for all QSE in Market i.
DORRQi:
Defaulted Obligation for Responsive Reserve per QSE in Market i.
CRR i: 

Responsive Reserve Services Procured in Market i.
MCPCi:
Market Clearing Price of all procurement process of Capacity ($/MW).
i:

Interval (hour).

n:

Number of markets opened.
6.9.1.4
Non-Spin Reserve Service Default Obligation Charge
When more than one market has been opened:

TDOCNS i = (DONSi * Max (MCPC1, MCPC  2, . . . MCPC n) + (CNS1  + . . CNSn-1.)* Max (0, (MCPC i  - Max (MCPC1 . . . MCPC n-1))

TDOCNSQi = TDOCNSi * (DONSQi / (( DONSQi)all QSEs )

Where:

TDOCNSi:
Total cost for the default obligation in Market i for Non-Spin Reserve.
TDOCNSQi:
The charge for the default obligation per QSE in Market i for Non-Spin Reserve.
DONSi:
Total Defaulted Obligation for Non-Spin Reserve for all QSE in Market i.
DONSQi:
Defaulted Obligation for Non-Spin Reserve per QSE in Market i.
CNS i: 
Non-Spin Reserve Services Procured in Market i.
MCPCi:
Market Clearing Price of all procurement process of Capacity ($/MW).
i:
Interval (hour).

n:
Number of markets opened.
6.9.2 Settlement for ERCOT Ancillary Service Capacity Procured in the Day Ahead and Adjustment Periods

(1) ERCOT shall allocate to each QSE representing Load that portion of the QSE’s total requirement of each of the Ancillary Services of Regulation Up, Regulation Down, Responsive Reserve Service, and Non-Spinning Reserve Service. ERCOT shall determine each allocation based on the QSE’s ratio of Ancillary Services shown in the applicable Ancillary Service Plan.

(2) The QSE’s settlement capacity shall be the QSE’s total capacity allocation minus any self-arranged Resources scheduled.

(3) Each QSE’s settlement charge, in dollars, for each Ancillary Service, by hour, shall be equal to the calculated weighted average of clearing prices for the Ancillary Service (in dollars per megawatt), multiplied by the QSE’s settlement capacity (in megawatts)

(4) There is no difference in the manner in which costs for procurement in the Day Ahead and Adjustment Period are allocated for the following services:

(a) Regulation Up;

(b) Regulation Down;

(c) Responsive Reserve; and

(d) Non-Spinning Reserve.

6.9.2.1
Regulation Up Service Charge
(1) All costs of ERCOT procurement of Regulation Up shall be calculated as follows:

LARUqi =
RUPi * NTORUqi
RUPi 
=((PCRUi + PCIESRUi  – TDOCRUi) * -1 / (COBRUti – SARUti)) 

NTORUqi = (COBRUqi – SARUqi)

Where:

i:
interval being calculated

LARUqi:
Regulation Up Service Capacity Load Allocation Charge ($) per interval for that QSE

PCRUi:
Procured Regulation Up Capacity Costs ($) for the total Market

PCIESRUi:
Emergency Service Regulation Up Capacity Costs ($) for the total Market for the interval

COBRUqi:
Obligated Regulation Up Capacity (MW) per interval of that QSE

COBRUti
Total Regulation Up Obligations Capacity (MW) in that interval. 

SARUti
Total Self Arranged Regulation Reserve Up Capacity (MW)  in that interval

SARUqi:
Self Arranged Regulation Up Capacity (MW) Service per interval for that QSE.

RUPi
Regulation Up Price per interval

NTORUqi
Regulation Up Net Obligation (MW) per QSE per interval
TDOCRUi:
Total Default Obligation Cost for Regulation Up in Market i
6.9.2.2
Regulation Down Service Charge 

(1) All costs of ERCOT procurement of Regulation Down shall be calculated as follows:

LARDqi =
RDPi * NTORDqi
RDPi 
=
((PCRDi + PCIESRDi  – TDOCRDi) * –1 / (COBRDti – SARDti))

NTORDqi = (COBRDqi – SARDqi)
Where:

i
interval being calculated

LARDqi
Regulation Down Service Charge per interval Regulation Down Reserve Capacity Load Allocation Charge ($) per interval for that QSE

PCRDi
Procured Regulation Down Capacity Costs ($) for the total Market for the interval

PCESRDi
Emergency Service Regulation Down Capacity Costs ($) for the total Market for the interval

COBRDqi
Obligated Regulation Down Capacity (MW) Service per interval of that QSE
SARDti
Total Self Arranged Regulation Down Capacity (MW)  in that interval
SARDqi
Self Arranged Regulation Down Capacity (MW) Service per interval of that QSE

RDPi
Regulation Down Price per interval

NTORdqi
Regulation Down Net Obligation (MW) per QSE per interval

COBRDti
Total Regulation Down Obligations in that interval. 

SARDti
Total Self Arranged Regulation Down in that interval
TDOCRDi:
Total Default Obligation Cost for Regulation Down in Market i
6.9.2.3
Responsive Reserve Service Charge 

(1) All costs of ERCOT procurement of Responsive Reserve shall be calculated as follows:

LARRqi =
RRPi  * NTORRqi
RRPi =
(PCRRi + PCIOOMRRi – TDOCRRi)  * -1 / (COBRRti – SARRti)

NTORRqi=
(COBRRqi - SARRqi)

Where:

i:
interval being calculated

LARRqi:
Responsive Reserve Capacity Load Allocation Service Charge ($) per interval for that QSE

PCRRi:
Procured Responsive Reserve Capacity Costs ($) for the total Market for the interval

PCOOMRRi:
Out of Merit Responsive Reserve Capacity Costs ($) for the total Market for the interval

COBRRqi:
Obligated Responsive Reserve Capacity (MW) Service per interval of that QSE
SARRti
Total Self Arranged Responsive Reserve Capacity (MW)  in that interval
SARRqi:
Self Arranged Responsive Reserve Capacity (MW) Service per interval of that QSE

RRPi 
  
Responsive Reserve Price per interval

NTORRqi:
Responsive Reserve Net Obligation (MW) per QSE per interval

COBRrti
Total Responsive Reserve Obligations Capacity (MW) in that interval. 

SARRti
Total Self Arranged Responsive Reserve Capacity (MW) in that interval
TDOCRRi:
Total Default Obligation Cost for Responsive Reserve in Market i
6.9.2.4
Non-Spinning Reserve Service Charge

(1) All costs of ERCOT procurement of Non-Spinning Reserve shall be calculated as follows:

LANSqi =
NSPi  * NTONSqi
NSPi  =
((PCNSi + PCIOOMNSi – TDOCNSi) * -1  / (COBNSti – SANSti))  

NTONSqi=
(COBNSqi – SANSqi) 
Where:

i:
interval being calculated

LANSqi:
Non-Spinning Reserve Capacity Load Allocation Charges ($) per interval for that QSE

PCNSi:
Procured Non-Spinning Reserve Capacity Costs ($) for the total Market for the interval

PCESNSi:
Emergency Service Non-Spinning Reserve Capacity Costs ($) for the total Market for the interval

COBNSti
Total Non-Spinning Reserve Obligations Capacity (MW) in that interval.
SANSti
Total Self Arranged Non-Spinning Reserve Capacity (MW)  in that interval 

SANSti
Total Self Arranged Non-Spinning Reserve in that interval

COBNSqi
Obligated Non-Spinning Reserve Capacity (MW) per interval of that QSE

SANSqi:
Self Arranged Non-Spinning Reserve Capacity (MW) per interval of that QSE

NSPi
Non-Spinning Reserve price per interval

NTONSqi
Non-Spinning Reserve Net Obligation (MW) per QSE per interval

TDOCNSi:
Total Default Obligation Cost for Non-Spin Reserve in Market i
	PRR Evaluation

	Non-ERCOT Market Comparison
	No Comparison conducted.

	
	

	

	Comments Author
	Comments Summary

	
	None submitted.
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